vsa VIDYA SHREE ACADEMY
SR. SEC. SCHOOL

An English Medium Co.Ed. School | Science & Commerce
40% swf; W : www.vsajaipur.com | E :vsajaipur@gmail.com M. :+91 9460356652, 8058999828
Add. : 84, Krishna Vihar, Behind Narayan Niwas, Gopalpura Bypass, Jaipur - 302015
E /vsajaipur | EJ /vsajaipur | @ /vidyashreeacademy | _@_ /vsa_jaipur

Pre Primary wing of VSA

Subject: Maths Class:9 Topic: Ch.14 Statistics

Practice Exercise 14.3/——————

I. A survey conducted by an organisation for the cause of illness and death among the women between the ages

15 — 44 (in years) worldwide, found the following figures (in %) :

S. No. Causes T Female fatality rate (%) |
1. | Reproductive health conditions | 31-8 |
2. | Neuropsychiatric conditions ‘ 254 ;
3. | Injuries 12:4 ;
4. | Cardiovascular conditions v 4-3 |
5. | Respiratory conditions 41 ‘
6. | Other causes ‘ 220 ‘

) Represent the information given above graphically.
(i) Which condition is the major cause of women’s ill health and death world-wide ? !
(iii) Try to find out, with the help of your teacher, any two factors which play a major role in the cause in

(i) above being the major cause.

2. The following data on the number of girls (to the nearest ten) per thousand boys in different sections of Indian
society is given below :

»

| hedin [l
' Scheduled Caste (SC) 940
Scheduled Tribe (ST) 970
= Non SC/ST 920
Backward districts 950
Non-backward districts 920
Rural 930
Urban 910

(i) Represent the information above by a bar graph. "
(i) In the classroom discuss what conclusions can be arrived at from the graph.
3. Given below are the seats won by different political parties in the polling outcome of a state assembly elections :

| Political -
Baavaae Sl 0 4 D TET ] F

Seats
Won 75 55 37 29 10 _ 37




r——

i) D
) re::‘;vun bar graph to represent the polling
(ii) Which political won maxim
e 4 party the um number
4 The length of 40 leaves of a plant ured
correct to one millimetre, and the ob::n:ie::ta is
represented in the following table :

| Length (in mm) | Number of leaves
118 - 126 i

[ 1272186 3

| 136 — 144 9
145 — 153 to

1 154 — 162 v
163 — 171 5

L 172 — 180 2

(i) Draw a histogram to represent the given data.

(i) Is there any other suitabl
representation for the san‘xﬂ d:l e? eraphcal

to conclude that the maximum

ammlong‘lWhy"
neon

(iii) Is it correct
number of leaves are 15
5. The following table gives the life times of 400

lamps :

- FESES
Life time (in hours) Number of lamps
300 — 400 14
400 - 500 56
500 — 600 60
600 — 700 © 86
700 — 800 74
800 — 900 62
900 — 1000 48 _J
(i) Represent the given information with the help
of a histogram.
(ii) How many lamps have a life time of more than
700 hours ?

6. The following table gives the distribution of students of two sections according to the marks obtained by them :
Section A Section B
Marks Frequency Marks Frequency
0— 10 3 0—10 - 5
10 — 20 9 10— 20 19
20 — 30 17 20 — 30 15
30 — 40 12 30— 40 10
40 — 50 9 40 — 50 : 1

Repx'esentl:hew&e students of both the sectiops on the same graph by two frequency pol -
Y : t.he perfoxma.nce of the two sections.
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